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NOTES: Section 9.7 - Using the Discriminant

Goals: #1 - I can use the discriminant to determine the number of solutions of a quadratic
equation.

Homework: Section 9.7 Worksheet ] - )
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Warm Up: Use the quadratic formula to solve the equation. Write your answer in simplest

radical form. -p t pr-4 AL
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Exploration #1: Work with a partner and answer the following questions.

1. Use the graph to identify the solutions of the quadratic equation:

ay=x?-3x—-4 b.y=-x*+2x-1 c.y=2x*-2x+3
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solution/s: — l, ljl solution/s:__| solution/s: Nno ﬂ Q
2 Find the value of b% — 4ac for these quadratic equations:
o4y pe— 3% — 4 b.y=-x*+2x-1 c. y=2x*-2x+3

ENFMEDY (@Y D)= 9(00)
9+l q—Zﬁ

75 a i)

Scanned by CamScanner



Name: Hour: Date:

Notes:

1 , .
In the quadratic formula, the expression \0 'L‘\ AC is called the d\ S(/H Mminan t

of the quadratic equation.

—b + V[BZ— ac] dsrmiNat

o X = 2a
We can use the d\SU | Mt n(lm of a quadratic equation to determine the equation’s
ﬂUmVQY and "’J\A}v( of SO\UMHS
s ¥ 0 -

umber an e x ' 0 Q(L\
oNfsoll:n:ionsdryp Z SD\UﬂUﬂS \ SO\Uﬂun nSb\\:’ﬂ('nS

Graph of p— ; b v
J Y )
y=ax?+bx+c /\\j‘

v v v

Example #1: Find the value of the discriminant. Then use the value to determine whether

the equation has two solutions, one solution, or no real solution. B W ¢
C

1. x2-3x+4=0 2.2x2=8x—-18 3. x2=5x+4=0
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You practice: Find the value of the discriminant. Then use the value to determine whether
the equation has two solutions, one solution, or no real solution.

1. x*4+3=0 2. x*—6x =13 3.x2-2x+1=0
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